Y% E
=

Set~1

Series 1HKPQ6/C

Roll No.

Code No. 56/1 /1

Candidates must write the Code on the
title page of the answer-book.

Please check that this question paper contains 10 printed pages.

Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 33 questions.

Please write down the serial number of the question in the answer-book
before attempting it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

[=] 3% [=] [m] - =]
ET%% CHEMISTRY (Theory)  Zis

Time allowed : 3 hours Maximum Marks : 70

General Instructions :
Read the following instructions very carefully and strictly follow them :

(@)

(i)

(iti)
(iv)
(v)

(vi)

This question paper comprises four Sections — A, B, C and D. There are 33 questions in the
question paper. All questions are compulsory.

Section A - Questions no. 1 to 16 are very short answer type questions, with each
question/part carrying 1 mark. Answer these questions in one word or one sentence.

Section B — Questions no. 17 to 25 are short answer type questions, carrying 2 marks each.
Section C - Questions no. 26 to 30 are long answer type-I questions, carrying 3 marks each.
Section D - Questions no. 31 to 33 are long answer type-II questions, carrying 5 marks each.

There is no overall choice in the question paper. However, an internal choice has been provided
in 7 questions/parts of one mark, 3 questions of two marks, 2 questions of three marks and all
the 3 questions of five marks. You have to attempt only one of the choices in such questions.

In addition to this, separate instructions are given with each section and question, wherever
necessary.

Use of calculators and log tables is not permitted.
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SECTION A

Read the passage given below and answer the following questions : 4x1=4

Amines can be considered as derivatives of ammonia and are usually formed from
nitriles, nitro, halides, amides, etc. They show hydrogen bonding which influences their
physical properties. In aromatic amines, electron releasing and withdrawing groups
respectively increase and decrease their basic character.

Hinsberg test is used for the identification and distinction between primary, secondary
and tertiary amines.

The following questions are multiple choice questions :
(1) Ethyl amine can be prepared by the action of LiAlH, on :
(A) CH,NO,
(B) CH; - CN
(©) CH; - NC
(D) CH, - CH, — CONH,
(ii) Which of the following reagents is used for the Hinsberg test of amines ?
(A) CzH;COCl
(B) CH,COCl
(©) CgH; — SO H
(D) CgHy - SO,Cl
(ii1) Out of the following, the strongest base in aqueous solution is :
(A) (CH5),NH
(B) (CHg)sN
(®); CH,; - NH,
(D) CzH; - NH,
(iv) The reaction of ammonia with a large excess of CH4 — Cl will give mainly :
(A) C,Hg
(B) (CH3),NH
(©)  (CHy,N"CI”
(D) CH, - NH,

OR

Among the following amines, which one is expected to have the lowest boiling
point ?

(A) C,H; - NH,

(B) (C,Hy)sN

©) (C,Hy),NH

(D) CH; - NH,,
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Read the passage given below and answer the following questions : 4x

Colloidal solutions are intermediate between true solutions and suspensions based on
particle size. A colloidal system consists of two phases — the dispersed phase and the
dispersion medium. Based on the nature of interaction between the dispersed phase and
dispersion medium, colloids are of two types — Lyophobic and Lyophilic colloids. The
colloidal particles always carry an electric charge. The colloidal solutions are purified by
dialysis.

In the following questions (Q. No. 2 (i) - (iv)), a statement of assertion followed by a
statement of reason is given. Choose the correct answer out of the following choices.

(A)

(B)

(C)
(D)

Assertion and Reason both are correct statements and Reason is the correct explanation
of the Assertion.

Assertion and Reason both are correct statements, but Reason is not the correct
explanation of the Assertion.

Assertion is a correct statement, but Reason is a wrong statement.
Assertion is a wrong statement, but Reason is a correct statement.

1) Assertion : True solution shows scattering of light.
Reason : In true solution, size of solute particles is much smaller than the
wavelength of light used.
(i)  Assertion : Lyophilic sols are more stable than Lyophobic sols.
Reason : Lyophilic sols are highly solvated in the solution.
(iii)  Assertion : Colloidal solutions are purified by dialysis.
Reason : Colloidal particles pass through a suitable membrane in dialysis.
(iv)  Assertion : A positively charged sol is obtained when KI is added to AgNO.
Reason : This is due to preferential adsorption of Ag* ions.
OR
Assertion : Colloidal solution shows Brownian Movement.
Reason : Colloid is not a substance but a state of substance.

The following questions (Q. No. 3 to 11) are multiple choice questions :

3.
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The helix structure of proteins is stabilized by :
(A) peptide bond

(B) hydrogen bond

© disulphide bond

(D) van der Waals forces
OR

Nucleic acids are polymers of :

(A) nucleosides

(B) D-ribose

©) amino acids

(D) nucleotides
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Which of the following is a strong oxidising agent ? 1
(At. No. Mn = 25, Zn = 30, Cr =24, Sc=21)
(A)  Mn3*
(B)  Zn?
)  Cr¥
D) St
A compound formed by elements P and Q crystallizes in a cubic structure where P atoms
are at the corners of a cube and Q atoms are at the face centres. The formula of the
compound is : 1
(A) P,Q,
(B) PQ,
C) PQ
(D) P.Q
Nitrogen is unable to form pentahalides because of : 1
(A) the presence of s and p orbitals.
(B) the absence of both p and d orbitals.
©) the absence of d orbitals.
(D) all of the above
OR
Which of the following hydrogen halides is most volatile ? 1
(A) H-F
(B) H-1I
(@) H-Br
(D) H-Cl
The oxidation number of Co in [Co(en);],(SO,)g is : 1
(A) +2
(B) +3
©) +4
(D) +6
Which of the following ligands form a ‘chelate’ complex with metal ion ? 1
(A) H,0
(B) CN
©) Co0%~
(D) Cl
OR

The coordination number of Cr in [CrCl,(0x),] 3 s 1
(A) 6
(B) 5
© 4

3

(D)
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The formula of the coordination compound

tetraamminechloridonitrito-N-cobalt(III)chloride is : 1
(A) [CO(NH3)401(ONO)]CI2

(B) [CO(NH3)4012(N02)]CI

(@) [CO(NH3)4CI(NO2)] Cl

(D) [Co(NHS) 4(N02)]C13

10. The reaction given below :

Cl CH,4
@/ + 2Na + CH3Cl — @/ + 2NaCl

is called : 1
(A) Wurtz reaction
B) Wurtz — Fittig reaction
©) Fittig reaction
(D) None of the above
OR
Which of the following reactions will be the fastest under identical conditions ? 1

(A)  C,H,OH+HI —— C,H,I+H,0
(B)  C,H,OH +HCl —— C,H.Cl + H,0
(C)  C,H,OH+HBr — C,H.Br+ H,0
(D)  C,H,O0H+HF — C,H,F + H,0

11. Cubic close packing of equal sized spheres is described by : 1
(A) ACB ACB ACB ...
(B) AB AB AB ...
© ABC ABC ABC ...
(D) AB AC AC AB ...

In the following questions (Q. No. 12 - 16) a statement of assertion followed by a
statement of reason is given. Choose the correct answer out of the following choices.

(A)  Assertion and Reason both are correct statements and Reason is the correct explanation
of the Assertion.

(B) Assertion and Reason both are correct statements, but Reason is not the correct
explanation of the Assertion.

(C)  Assertion is a correct statement, but Reason is a wrong statement.
(D)  Assertion is a wrong statement, but Reason is a correct statement.

12. Assertion : Ortho-nitrophenol is more acidic than phenol.
Reason : Nitro group is electron donating group and therefore stabilizes
ortho-nitrophenoxide ion. 1
13. Assertion : F — F bond has lower bond dissociation enthalpy than CI — CI bond.
Reason : Fluorine forms only one oxoacid. 1
OR
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Assertion : Noble gases form compounds mainly with Fluorine and Oxygen.

Reason : Fluorine and Oxygen are the most electronegative elements. 1
14. Assertion : Iron on reaction with HCl gives FeCl, and not FeCl,,

Reason : Hydrogen gas produced from the reaction prevents the oxidation of

FeCl, to FeCl,. 1

15. Assertion : Glucose is a reducing sugar.

Reason : Despite having an aldehydic group, glucose does not give 2,4-DNP test. 1
16. Assertion : Benzoic acid does not give Friedel-Crafts reaction.

Reason : The carboxyl group is deactivating and gets bonded to Lewis acid AlCl. 1

SECTION B

The following questions (Q. No. 17 to 25) are short answer type and carry 2 marks each : 9x2=18
17. (a) Write structures of the products formed when : 2x1=2

1) Propan-2-ol is heated with Cu at 573 K.
(i1) Salicylic acid is treated with (CH;CO),O/H".

OR

(b) Carry out the following conversions : 2x1=2
1) Phenol to Anisole
(ii) Aniline to Phenol

18. What type of deviation from Raoult’s law is observed by mixing chloroform and acetone ?
Why is a decrease in vapour pressure observed on mixing chloroform and acetone ? 2
19. (a) Write the hybridisation and magnetic behaviour of the following complex : 2x1=2
i) [CoFgl?

()  [Ni(CN)J*
[Atomic number of Co = 27, Ni = 28]

OR
(b) (1) Write the IUPAC name of [Mn(HZO)G]SO 4

(i1) Why is [Fe(CN)6]4‘ diamagnetic while [FeF6]3_ is paramagnetic ?
[At. No. Fe = 26] 2x1=2

20. The following reaction was carried out in water :
Bry, + 2 —— 2Br™ +1,

The initial concentration of I was 0:30 M and the concentration after 10 minutes

reduced to 0-28 M. Calculate the rate of disappearance of I and production of L, 2
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21. (a) Account for the following : 2x1=2
1) Transition metals form large number of complex compounds.
(i1) Cr?* is a strong reducing agent.
OR
(b) Why do transition elements show variable oxidation states ? How are transition
metals different from p-block elements in terms of variability of oxidation
states ? 2
22, Write the equations involved in the following reactions : 2x1=2
1) Carbylamine reaction
(i1) Hoffmann bromamide degradation reaction
23. In the following pairs of halogen compounds, which would undergo Sy2 reaction faster ?
Give reason in support of your answer. 2x1=2
I Cl
O S\
CH,4
|
(i) CHg— (|3 —Cl , CH;— CH, — Cl
CH4
24, Write equations of the following reactions : 2x1=2
) Friedel-Crafts reaction — alkylation of anisole
(i) Nitration of Phenol with concentrated nitric acid
25. An element with molar mass 27 g mol™! forms a cubic unit cell with edge length 300 pm.
If its density is 6:6 g cm™3, identify the nature of cubic unit cell. 2
SECTION C
Q. No. 26 to 30 are long answer type-I questions carrying 3 marks each. 5x3=15
26. (a) Why is E°(Cu?*|Cu) exceptionally positive ? Although Cu* ion has

3410 configuration, yet it is unstable in an aqueous solution. Why ? What is the

reason for the stability of Cu?* over Cu™ ion ? 3
OR
(b) Give reasons for the following : 3x1=3
(1) Transition metals form alloys.
(i1) Zinc has lowest enthalpy of atomization.
(ii1) Manganese shows higher oxidation state of +4 with Fluorine but shows

+7 with Oxygen.
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217. (a) Differentiate the following : 3x1=3
(i) Fibrous protein and Globular protein
(ii) Essential amino acids and Non-essential amino acids
(iii) DNA and RNA
OR
(b) Write the reaction of Glucose with : 3x1=3
(1) HCN
(i1) Br,,
(iii) HI
28. Following data were obtained for the given reaction :
X +Y —— Product
Exp. X)/M Y1/M nitial Kae
1 0-1M 0-2M 0-05
2 0-2M 0-2M 0-10
3 0-1M 0-1M 0-05
) Find the order of reaction with respect to X and Y.
(i1) Write the rate law expression.
(iii) Find the rate constant. 3x1=3
29. Vapour pressure of water at 293 K is 17-536 mm Hg. Calculate the vapour pressure of
aqueous solution when 20 g of glucose (Molar mass = 180 g mol™!) is dissolved in 500 g
of water. 3
30. Give reasons for the following : 3x1=3
) Electrophilic substitution in haloarenes occurs slowly.
(i) Sulphuric acid is not used during the reaction of alcohols with KI.
(1i1) Alkyl halides give nitrile with KCN and isonitrile with AgCN.
SECTION D
Q. No. 31 to 33 are long answer type-II questions carrying 5 marks each. 3x5=15
31. (a) (1)  Account for the following :
D Tendency to show -2 oxidation state decreases from Oxygen to
Polonium in Group-16.
(Imn Among the noble gases, only Xenon is known to form chemical
compounds.

(III)  Axial Br — F bonds are slightly bent in the structure of BrF,.
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32. (a)
(b)
56/1/1

(i1)

@)

(i1)

(1)

(i1)

(i)

(i)
(iii)

(iv)

Draw the structures of XeF6 and XeF2.

OR

When MnO, is heated with conc. HCl a pungent coloured gas (A) is

evolved. (A) reacts with excess NH, to give a colourless gas (B).

However, when excess (A) is reacted with NH, it gives an explosive (C).

Identify (A), (B), (C), with equations.

Arrange the following in the increasing order of the property indicated :

@D Xe, Kr, Ar, Ne, He — Boiling point

Imn HF, HC1, HBr, HI — Thermal stability

Identify A, B and C in the following reactions :

Br
I © Mg, dry Ether 1) CO, PCly C
= Gi) H,0
CrO dil. NaOH
(I) CH,; — CH,0H 5, A TR gL

By what tests will you distinguish between :
@D Ethanol and Benzaldehyde

(I1) Acetone and Acetic acid
OR

Name the reagents used in the following reactions :

o ©/CHQCH3 9 @

o
(I1) CH,=CH-CHO — CH,=CH-CH,-OH

CoO Kt

Write the structure of oxime of propanal.

Why does carboxylic acid not give reactions of aldehydes and ketones ?

3+2=5

3+2=5

Arrange the following in the increasing order of their reactivity towards

nucleophilic addition reaction :

COCH,
CH,CHO, HCHO, CH; - ﬁ — CH,,

O
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33. (a)
(b)

(1)

(i1)

(i)

(i1)

%
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Calculate emf of the following cell at 298 K :
Al(s) | AI3* (0-1 M) || Cu2* (0-01 M) | Cu (s)
Given : Eg.; =2:00V (log 10 =1)

Define molar conductivity. On dilution, why does the molar conductivity
of HCOOH increase drastically, while that of HCOONa increases
gradually ? 3+2=5

OR

The electrical resistance of a column of 0-:02 M NaOH solution of
diameter 140 cm and length 44 cm is 5:00 x 103 ohm. Calculate its
resistivity, conductivity and molar conductivity.

Depict the galvanic cell in which the reaction takes place :
Ni (s) + 2Ag* (aq) —> Ni2* (aq) + 2Ag (s)

Further show :

@D Which of the electrodes is positively charged ?

(ID) The carriers of the current in the outer circuit. 3+2=5

Page 10 of 20



Set~1
Series 1HKPQ6/C == 56/1/1
e = glenefl ®E H IW-YETH % E-I8 W
' g ford |
o AT IAE H W b 39 TWH-99 7 Ylad I8 10 7 |
o THA-UA H TifeH F19 HI IR fU MU FiIe TR Fl BH IW-YFETH % JE-I8 W oG |
o HH G W A Fh W TA-TT H 33 T E |
o HUAT T T I TG I[& FH € Uged, T T hATeh v o1 |
o 3 YW-UF HI UG o fo1C 15 fiee o1 o fom w2 | weA-um o foar gt ¥ 10.15 99t R
ST | 10.15 S & 10.30 S G BT hddl Y¥3-UF bl Uil 7 39 74 o A o IT-Yfedent
T hIg I T fere |
[=] 4 [=] [=]:2[m]
e o (fe) g
AgiRa aa7 : 3 gue STferan 37 : 70
T (597 :

REAICTIEa 39T @1 T5a Traer] & ieq SR 37 G & qic Hiiag :
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(i)

(1i1)

(iv)

(v)
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(vii)

(viii)
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1. = feu T srg=ae @i dfeu qun ffeifad et < 3T i 4x1=4
Uil 1 T % SYcud o ®Y W HMT W1 dehdl 8 9dT THTG: A RS, A8, dARE,
UHTgS, 3AMe ¥ 9T S & | 3 BESISH Ay guid & S o g9k siifoes ot w1 gwifea
HAT g | WHREH WHHT # saag g (M=) T soidee AIas% 98 3 &R urEd
U Ihg T BE H € |
Tewert wlieqor w1 wnafae, fgdaes qeon g WAl it ggam aun favg § w3y foran Sar 2 |
frefafaa e sgfaspedta T 2
(i)  ufet U 1 LiALH, g foreh W foham shteh SHTRIT ST @ehall @ 2

(A)  CH,NO,
(B) CH,-CN
()  CHy;-NC
(D)  CH,-CH, - CONH,
i)  frafafea § @ Si-an stfieris T & fedent we § < fomam SraT 3 2
(A)  CgH,COCI
(B)  CH,COCI
(C)  CgH,—SO,H
(D) CzH, —S0,Cl
(i) frfafea # & Sefta foerm o goeae ar 2 -
(A)  (CHy,NH
(B)  (CHy),N
(C)  CH,y-NH,
(D)  CgH, —NH,
(iv) 3T sy Srfifseen CH, — Clsh 3T § st W qedd: S
A)  C,H,
(B)  (CHy),NH

(©)  (CHy,N'CI”
(D)  CH,-NH,
AT
freforfaa T § & foraen waemie freram stafem & 2
(A)  C,H,-NH,
(B)  (C,H),N
(©)  (C,H,NH
(D)  CH,-NH,

56/1/1 Page 12 of 20



N mzm

= feu T sr=ae @t dfew qun frefafad gt & 3@ i - 4x
U o TR o IMMYUR T hlcAge! faad daredfaes faeam ta fefsq & ney i feafa 2 1 o=
Harse! Fem @ greard g & — oftfarea wrewen wd wfigver e | ofifere green w
aiETur T W fiT TRl hl Thid % MUR W HIAES 3 TR b 8 & — FaTRR &
ZRFT hIeies | HIcge! wU W gHe fogd maY Wal § | Hidse! o=@ &l e g
wfga (anfea) form smar 2 |

Referfaa g97 (997 @&3T 2 (i) - (iv) ) § U fUFHIT a9T 59 FROT & FHIT 391 71 § |
ReaferRaa faseal 4 & agt 3w giav |

(A)
(B)
(9
(D)

AT 3T HROT ST T HYF § 3R HROT, 31feher i T =& B |
AT 3T RO g1 TEl HY &, T BRI, AR 6T &l A 77 2 |
31fihe W&l o B, W] HROT Tt heH B |
AYH TTeTd HAA B, Trg HRUT T H 7 |
(i) fYHyT:  AEdfas IeTa T T JehivlT goridr 7 |
BRI : g@mﬁwﬁﬁwﬁwwmm%ﬁﬁ@a@w
|
(i) f¥HyT:  garht |id, gaferrft afd S o ° s1fees Tmft 3d 2 |
R : garrft At faerem ® efersran faamreraifoa (foemre defa) g & |
(i) S7FHI7T:  HIAES! G Sl TR o g Yfghd (IMTea) foram Smar 2 |
BN : IATEA T hIcATgS! U1 Teh I fereeht § & et 1 € |
(iv) S7fiped: S AgNO, # KI %l S/dl STl § del Ush gTafird Flet sal & |
BRI : g Ag* STRAT o ATET SR & HRT B 2 |
AT
SFIT:  wiciEe) faoEd SeA i guiar # |
HR : HIAEE Teh g1 ol 7 Teq et hl Tawer 7 |

Rl o7 (797 @@ 3 @ 11) aglasedia Io7 & :

3.

T I Bfcterd G % g wrft Bt B 1
(A)  U<ES AEY
(B)  ®3gIoM @Y
(C)  SEUTHISS AEY
(D) oL 9T Sl
AYAT
FEAH A hEgEh d | 1
(A)  FfFaeiEmEel
(B)  D-TgE®m
(C) Ml Il
(D)  fFasTeEst
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Fr=fefea o 9 l9-a1 Yo TR ® ? 1
(Y] AT Mn = 25, Zn = 30, Cr =24, Sc=21)
(A)  Mn3*
(B)  Zn?t
(C)  Cr?*
(D)  Sc3*
5. P a1 Q Al <l Teh O TT=AT § fohtecfieha gieht Teh AfTTeh ST 7, el P 9wTy] o o fehami
T AT Q THTY] HeTeh o hrgl W & | Ak HT A B - 1
(A) P.Q,
B)  PQ,
©) PQ
D)  P,Q
6. IELISH U=CTEaTse s | 78mef 8 Fifeh : 1

(A) s p HeTehi ht Iufearfa gt 7 |
(B)  p T d I herehl ! STufedfd gt 7 |
(C)  d-wherehi shi qufedfa &t 2 |

(D) T g ot |
SrerEn
Frafafga o & oF-a1 gRgIeF gdse iy arsasie § ? 1
(A) H-F
B) H-I
(C) H-Br
(D) H-Cl
7. [Co(en),],(SO,), H Co =hi SATeFHiehtol HET 2 : 1
(A  +2
(B) +3
© +4
(D) +6
8. Frefefga foret § & SF-A1 91q 3T=E o |1 el e ST 8 2 1
A  H0
(B) CN™
(C) €03
(D) Cl
A
[CrCly(0x),]3~ # Cr i IueEEaISH &1 & : 1
(A) 6
(B) 5
(C) 4
D) 3
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9. ITHEGASTH AfiTeh SR HFARISMTSeel-N-ShiaTee(IIN)FARISES & §F 3 1
(A)  [Co(NH,),CLONO)ICL,
(B)  [Co(NH,),CL(NO,)ICI
(©)  [Co(NH,),CINO,)ICI
(D) [Co(NH,),(NO,)ICI,
10. = < g srffha 1
Cl CH,
@/ + 2Na + CH3Cl — @/ + 2NaCl
FHEAT &
(A) g sl
(B) I — Tofem arfufsran
(C)  fTopfem arfufsran
(D)  39Y® § ¥ ®Ig Tl
arera
Fr=feafaa srfufsrneti @ @ - g et | ig grft 2 1
(A)  C,H,OH+HI —— C,H.JI +H,0
(B)  C,HOH +HCl — C,H,Cl + H,0
()  C,H,OH+HBr —— C,HBr + H,0
(D)  C,H,OH+HF —— C,H.F + H,0
11.  THH THR % Mal &1 751 ffae dpeq g foran S 2 | 1
(A) ACB ACB ACB ...
(B) ABABAB...
() ABC ABC ABC ...
(D) ABACACAB...
Aeferfaa g9 (997 @&ar 12 & 16) # U IfUFHIT a9T 59% FRUT &1 F97 391 7197 § |
FReferfaa faseal 4 @ gt 3w &1 giav |
(A)  ANTHAT 3R SR AT &l HAT & TN HRUT, ATHAT hl Tal AT 2 |
(B)  AfYeheq SR SR gHT Wl %A 3, Wrg HRUT, ANk Sl Tt e 757 7 |
(C)  AfeheA TEl HUF 8, T RO TAd HIF 2 |
(D)  AfYHYA TAd $eH 7, Tg PR TEl HIT B |
12. 37y : TS I T § ATA-ATZ IS 3Tfeeh i B |
HR TS TR FAFLH ST TR & A1 foh AT ITAATATSS 3T <l TeMfiea <o
7 | 1
13.  37fU%9T: Cl— Cl 3759 1 ga1 § F — F 37eY <l 37ey fois oot +m 2 |
HR : T hadl T SATFHISTEA ST 2 | 1
Jrran
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STIFHIYT : 3chy (Fiaa) T geud: T3 Ud S & e AN s1d 8 |

<

HR : FARTHIA Ta ATl IS waitereh feregd-eonenss o< § | 1
14. 3759 : SR 1 JAfsRAT HCL 8 % T FeCl, <d1 & 7 o FeCl, |

PR : 3ffvfshan o s arefl BEgeH 18 FeCl, 1 FeCly # ATerdTeRtoT =i Tehl 2 | 1
15.  37Y®9 : ThIE TR U B |

HN : e 1 Ufeessies dug 8 o 3T i 2,4-DNP wlierr 7€ <a1 2 | 1
16. 3B S=Siigeh 3TF Shieel-shIFed STTfsha =&l 2a1 @ |

BRI : shisirae gg Ffshaor & a1 ggd st AIC], ¥ siferd &1 9T 2 | 1

LG LERC]

Reforferd 3o (397 &1 17 @ 25) Tg-3709 37 & 37 Feieb J97 2 37l o7 & : 9x2=18
17. (a)  3c9igl 6 @A fafae 59 2x1=2

(i) TU9-2-377ef ! Cu % &9 573 K T T d 2 |
(i)  Gfcrfaferes st s fsha1 (CH,C0),0/H" 8 et St & |

&P

(b) fafafga sur=awn i hifse - 2x1=2
i) e @ tfEia
(ii) e 9 dEfa

18.  FARIGE Td UHIEH & 90 @ USee faw & fore yohR &1 Tamret <@t Mo 2 aaaiw ud UEieH

% o & I g | et = g R 2 2
19. (a) f=fafed gga H g vd grade ygfa fafee . 2x1=2
i [CoFgl?

() [Ni(CN),J*-
[FT] 3pHTeh Co = 27, Ni = 28]

AT
b @ [Mn(H,0)4]SO,, %1 IUPAC ™ fafm |
(i) [Fe(CN)g]* Sfcrgrsrshia & Sifeh [FeF ] srggrhia 2, ¥4 ?
[T ShHTeh Fe = 26] 2x1=2

20. Tatataa srfufspa Sa § i 2 -
Br2+21_ — 2Br +1,

1™ <1 JRfees |igar 0-30 M oft @i 10 fiee gamq Tigar &9 SR 0-28 MBI T8 | 1 o faqqed
B Q@ qdT L, S Al 0T R | 2
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21. (a) Fr=fefea & fow e @ 2x1=2
(i) T GTqY AT T § HHd Ak S 3 |
(i)  Cr?* Us 9od =S ¢ |
Ut
(b) GhHUT qed qREdASiel STTehto] ST 1 guIid © ? HshHvl €1qy, p-sclish awl &
iedaeiiar STTeelehtor STaEeaTi o Hed § &y fiye & 2 2
22. Tiafafag rfufseanst § wftafaq i < fafeu - 2x1=2
{) iU AffsRa
(ii) BRAM saTss et arfiyfsman
23.  frafafigq gelisH Afient & Iwi & § SH-A1 S 2 AR IS & S 2 T I % & H HRO
T | 2x1=2
I Cl
O S
e
(11) CH3—(|J—CI , CH3—CH2—CI
CH,
24. Tatataa srfufspaen & foau afeo fafen - 2x1=2
()  ShiSa-seed AR — YR o1 sttt
(i) AT =T AT |ig AE(Th 3T o A1
25.  Ueh dxd forEeh! Hiek gea™™ 27 g mol ™1, 300 pm R g shl BT Tsheh hif¥eh! 1A & | IS
FHHT T 6:6 g cm™> 7, Al T Teheh HITHHI 1 Thid Sl TE=THT | 2
@ uUs T
I97 G&IT 26 T 30 FH-3707 Fhr=l & J97 & 37K Jed% J97 3 3H #71 8 / 5x3=15
26. (2  E°(Cu"|Cu) SUETEEEY ¥ATcHH F1 ¢ 2 Cut 3 #1 3d 10 fommg g gu oft Srefiw
oo 9 st 8 | & 2 Cu?t o1 Cut A § 3feres Tnf¥cd o1 =1 1oy g 2 3
PG|
(b) fr=fefiga & fow sror s 3x1=3

(1) TRl e ey ST § |

i) 5 hit FH Tt =Eaw 7 |

(iii) ~ HHIS TS b |1 +4 hl I TR STEAT ST 8 Sfalfeh ATeeIoH b
Y +7 ST B |
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27, (x) e § g i 013
(i) WIER W qT MIARERR T
(i) ST WHIH 3R qUT ST THHT 370
(iii) ~ DNA T RNA
AT
(b) TR o Wy TR fafau . 3x1=3
(i) HCN
(i)  Br,
(i)  HI
28. < rfufsrn % fau frafafea <ot wr 5o
X+Y —— 3dIq
i X1/M Y1/M T
M min
1 0-1M 0-2 M 0-05
2 0-2 M 0-2 M 0-10
3 0-1M 0-1M 0-05
(i) X qen Y % @me stfufsean i wife wma Hifv |
Gi) o fm = fofau |
(i) o7 feories s <hif | 3x1=3
29. 9@ H 293 K W 99 @ 17-536 mm Hg 8 | 91§ 20 g o8 (WIel gea9 = 180 g mol 1)
I 500 g A T foetr fopa <Iran B, @1 Sief foeram o amsa g Y oMt i | 3
30. frafefea & forw wwor ifsre 3x1=3
()  FAEET # soriRrt gfeere ot g R |
(i)  UchEia i KI ¥ AGRAT & SR Sew]{en 37 Sl S9AN &1 ol ST 2 |
(i)  Ufcsret 2ese KCN % |19 18218l a9 AgCN % €1 SRR ad 3 |
Qus g
o7 Ge7 31 @ 33 FH-3HIT YER-11 & F97 & 3K Gcdeh Fo7 5 37bl 1 & | 3x5=15
31. (a) (1) F=fafes & faw sro dimw .

(D oF-16 § IS § TAI-EH 6 —2 ST el - hl TG
et 7 |

(I)  3cpse TGl # § haet ST TEmEfes e a9 & fore St S 2 |

(II)  BrF, ! @01 § Br - F 31&f9 37« o1g ¥ goh 91d @ |
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32. (a)
(b)
56/1/1

(i1)

1)

(ii)

(i)

(i1)

(1)

(ii)
(iii)

(1v)

XeF ; T XeF,, ! HT=MTY 5T |

AT

S« MnO, =l @5 HCl & @19 7 fopan <ram 2, o1 Ueh dfteo T4 74 (A)
freperdt @ 1 (A) 1 afufean snfer NH, & @ = @éH 79 (B) 3 # |
Selfeh NH, I AT (A) § AR Fard &, @ Th faewiess (C) s7aT 8 |

(A), (B) @1 (C) ! Ug=iT e grfieor farfau |

FfaRaa 1 g 7 707 % YR W S g S | SFafed hIfT
@ Xe, Kr, Ar, Ne, He — T2

(I)  HF, HCI, HBr, HI — ™ TR

ffafea sifufsraneti § A, B @9 C &1 vg=1f

Br
Mg, I 2R (i) CO, PCl,
M @ Amo B ©

CrOgq ATﬂNaOH BA o

(I) CH; — CH,0H
form wlieror @ fmfafaa 9 fave swam
@D TIHTA qAT SfeeaEs

(II)  UHeE qeon vHifes v

Frora
frfaRaa stfufsraneti # ug 8 amer sifiedei & M fafaw :

CH,CH; COO™ K*

) @ —

(I) CH,=CH - CHO RN CH, = CH - CH, - OH
IO ok 3TeEH ! g fafau |
Ufeearse wd higH i ARt sweifFafces swa =i T8l a4 & ?

3+2=H5

3+2=5

freafetiga =t Arfertell At (Feper) Affshen & ufa stfufsramsficrar & sed

BU A H sHafead i
COCHj,
CH,CHO, HCHO, CH; - C - CHj,
y)
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33. (a)
(b)

(i1)

(i)

(ii)

%
=

Ffafaa o« & fiw 298 K © fa 919 (emf) i 7omT Shifsre -
Al (s) | AI¥* (0-1 M) || Cu®* (0:01 M) | Cu (s)
fen T R : By =2:00V (log 10 = 1)

HIeR FTershal sl IR HIT | 99 % | HCOOH sl Tier =Tetehdl dist
F1 dgd! 7, ek HCOONa &1 efiR-efR =gt B 2 3+2=5
19T
0-02 M NaOH fae® % i &1 9gd Jflie 5:00 x 102 ohm & | 391 =8
140 cm TS SIS 44 cm B | $5eh! TfRIEehdl, =Tetehdl qT AleR Teishdl i
gRehad HIfT |
39 Tedt Aa @l gartsy foan fefafaa sifufseer et 2 -
Ni (s) + 2Ag* (aq) ——> Ni%* (aq) + 2Ag (s)
313%@1311:
D) HIH-AT SAFIS GATcHS ITET 7 2
ID  =red afitey ¥ fogq 9/ & I 7 | 3+2=5
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